
BECC-108 1   P.T.O. 

 BECC-108  

B.A. ECONOMICS (HONOURS) 

(BAECH) 

Term-End Examination 

December, 2022   

BECC-108 : INTERMEDIATE MICROECONOMICS II  

Time : 3 hours Maximum Marks : 100 

Note :  Attempt questions from each section as per the 

given instructions.    

SECTION A 

Attempt any two questions from this section. Each 

question carries 20 marks.    220=40 

1. Consider the market demand curve     

  Q = 40 – P 

                   MC = 10  

 where, Q = Quantity, P = Price, MC = Marginal 

Cost.    

(a) Calculate the profit maximising output 

and price.    10    
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(b) Represent the equilibrium diagrammatically. 4  

(c) What will be the deadweight loss to the  

society ?   6       

2. Explain the general equilibrium of exchange in 

production and with no production. Discuss in 

detail, all the conditions for Pareto efficiency.  20 

3. Following is a normal form of a game in which 

each of the firms has three strategies (Left, 

Centre and Right) :     

                                          Firm B 

Firm A 

 Left Centre Right 

Top (4, 5) (1, 6) (5, 6) 

Middle  (3, 5) (2, 5) (5, 4) 

Bottom  (2, 5) (2, 0) (7, 0) 

(a) What is the dominant strategy of firm A and 

firm B ?  5 

(b) Find the Nash equilibrium in pure strategy. 5 

(c) Find out the mixed strategy equilibrium.  10 
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4. (a) What is asymmetric information ? How 

does it lead to market failure ?     7  

(b) Explain the problem of market for lemons 

with the solution.   13 
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SECTION B 

Attempt any four questions from this section.  

Each question carries 12 marks. 412=48 

5. Explain the role of value judgements in welfare 

economics.    12  

6. What is a Social Welfare Function ? How is 

Bergson-Samuelson Social Welfare Function 

different from Benthamite Function ?   12  

7. What is the third degree price discrimination ? 

Suppose the elasticities of two markets (Market 

A and Market B) are – 2 and – 4 respectively, 

under the third degree price discrimination. 

What will be the relationship between prices of 

markets A and B ?    12  

8. (a) What are the characteristics of monopolistic 

competition ? How is it different from  

monopoly ?   8  

(b) Explain the concept of Excess Capacity in 

case of monopolistic competition.   4 

9. What are the main characteristics of public  

good ? Explain Samuelson-Musgrave theory of 

provision of public goods.    4+8=12  
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10. Consider the following demand curve : 

 P = a – 3bQ 

 and MC = 0 

where, P = Price, MC = Marginal Cost.  

Find equilibrium price, quantity and profit 

according to Stackelberg and Bertrand’s model.   12 

11. Suppose, there are two traders A and B in an 

economy, who produce two goods : Tables and 

Chairs.    

 A can either produce 10 tables or 15 chairs. 

 B can either produce 12 tables or 16 chairs. 

 Derive the production possibility frontier for 

such an economy using the above information. 12 
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SECTION C 

Attempt both the questions from this section.  

Each question carries 6 marks.  26=12  

12. Write short notes on any two of the following :   23=6 

(a) Two-Part Tariff    

(b) Average Cost Pricing   

(c) Prisoner’s Dilemma  

(d) Coase Theorem    

13. Differentiate between any two of the  

following :  23=6 

(a) Non-cooperative and Cooperative games      

(b) Monopoly equilibrium and Perfect 

competition equilibrium     

(c) Cournot and Stackleberg model of oligopoly  

(d) Zero sum vs Non-zero sum game     
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~r.B©.gr.gr.-108 : _Ü`dVu ì`{ï> AW©emñÌ II 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> : àË`oH$ IÊS> go {XE JE {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE & 

IÊS> H$  

Bg IÊS> go {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ  

20 A§H$ H$m h¡ &   220=40 

1. {ZåZ{b{IV ~mµOma _m±J dH«$ na {dMma H$s{OE :   

    Q = 40 – P 

         MC = 10  

Ohm±, Q = _mÌm, P = H$s_V, MC = gr_m§V bmJV &   

(H$) A{YH$V_ bm^ àXmZ H$aZo dmbo CËnmXZ ñVa Ed§ 

H$s_V H$m n[aH$bZ H$s{OE &  10 
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(I) aoIm{MÌ Ûmam gÝVwbZ H$mo àX{e©V H$s{OE & 4 

(J) g_mO Ho$ {bE {dewÕ hm{Z Š`m hmoJr ? 6 

2.  CËnmXZ g{hV VWm {~Zm CËnmXZ Ho$ {d{Z_` Ho$ gm_mÝ` 

g§VwbZ H$s ì`m»`m H$s{OE & naoQ>mo XjVm H$s g^r eVm] 

H$s {dñVma go MMm© H$s{OE &   20 

3. ZrMo ÚyV H$m gm_mÝ` ê$n {X`m J`m h¡ {Og_| àË òH$ \$_© 

Ho$ nmg 3 ẁ{º$`m± (~mE±, Ho$ÝÐ VWm XmE±) h¢ : 

                            \$_© B 

\$_© A 

 ~mE± Ho$ÝÐ XmE± 

Cƒ (4, 5) (1, 6) (5, 6) 

_Ü`_ (3, 5) (2, 5) (5, 4) 

{ZMbm (2, 5) (2, 0) (7, 0) 

(H$) \$_© A VWm \$_© B H$s à~b `w{º$ Š`m h¡ ?   5  

(I) {dewÕ `w{º$ _| Z¡e gÝVwbZ H$mo kmV H$s{OE &  5 

(J) {_{lV `w{º$ g§VwbZ H$mo kmV H$s{OE &  10  
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4. (H$) Ag_{_V gyMZm Š`m h¡ ? `h {H$g àH$ma ~mµOma 

{d\$bVm H$s Amoa bo OmVr h¡ ?  7 

(I) bo_Ýg Ho$ {bE ~mµOma H$s g_ñ`m VWm g_mYmZ H$s 

ì`m»`m H$s{OE &    13 
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IÊS> I 

Bg IÊS> go {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 12 A§H$ 
H$m h¡ &   412=48 

5. jo_ (H$ë`mU) AW©emñÌ _| _yë` {ZU©`Z H$s ^y{_H$m H$s 

ì`m»`m H$s{OE &   12 

6. gm_m{OH$ jo_ (H$ë`mU) \$bZ Š`m h¡ ? ~J©gZ-go_wAbgZ 

gm_m{OH$ jo_ (H$ë`mU) \$bZ {H$g àH$ma ~¢Wo_mBQ> \$bZ 

go {^Þ h¡ ?  12 

7. Vrgar H$mo{Q> H$m H$s_V {d^oX Š`m h¡ ? _mZ br{OE {H$ 

Vrgar H$mo{Q> Ho$ H$s_V {d^oX Ho$ AÝVJ©V Xmo ~mµOmam| (~mµOma 

A VWm ~mµOma B) H$s bmoM H«$_e: – 2 VWm – 4 h¢ & ~mµOma 

A VWm ~mµOma B H$s H$s_Vm| Ho$ ~rM Š`m gå~ÝY hmoJm ?    12 

8. (H$) EH$m{YH$m[aH$ à{V`mo{JVm H$s Š`m {deofVmE± hmoVr  

h¢ ? `o {deofVmE± EH$m{YH$ma go {H$g àH$ma {^Þ 

hmoVr h¢ ?  8 

(I) EH$m{YH$m[aH$ à{V`mo{JVm H$s pñW{V _| A{Yj_Vm H$s 

AdYmaUm H$mo ñnï> H$s{OE &    4 

9. gmd©O{ZH$ dñVwAm| H$s _w»` {deofVmE± Š`m hmoVr h¢ ? 

gmd©O{ZH$ dñVwAm| Ho$ àmdYmZ Ho$ go_wAbgZ-_wgJ«od 

{gÕmÝV H$s ì`m»`m H$s{OE &  4+8=12 
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10. {ZåZ{b{IV _m±J dH«$ na {dMma H$s{OE :      

 P = a – 3bQ  
 Am¡a MC = 0 

Ohm±, P = H$s_V, MC = gr_mÝV bmJV &  

 ñQ>¡H$b~J© VWm ~Q´>]S²>g _m°S>b Ho$ AZwgma g§VwbZ H$s_V, 
_mÌm VWm bm^ kmV H$s{OE & 12   

11. _mZ br{OE {H$ {H$gr AW©ì`dñWm _| A VWm B Zm_H$ Xmo 
ì`mnmar h¢ Omo Xmo dñVwAm| H$m CËnmXZ H$aVo h¢ : _oµO VWm 
Hw${g©`m± &      

 A ì`mnmar `m Vmo 10 _oµO| AWdm 15 Hw${g©`m| H$m 

CËnmXZ H$a gH$Vm h¡ &  

 B ì`mnmar `m Vmo 12 _oµO| AWdm 16 Hw${g©`m| H$m 

CËnmXZ H$a gH$Vm h¡ & 

Cn`w©º$ gyMZm H$m à`moJ H$a Eogr AW©ì`dñWm Ho$ {bE 

CËnmXZ g§^mdZm gr_mÝVH$ (Production Possibility 

Frontier) H$mo ì`wËnÞ H$s{OE &   12 
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IÊS> J 

Bg IÊS> go XmoZm| àíZm| Ho$ CÎma Xr{OE & àË òH$ àíZ 6 A§H$ H$m  
h¡ &  26=12 

12. {ZåZ{b{IV _| go {H$Ýht Xmo  na g§{jßV {Q>ßn{U`m±>  

{b{IE :   23=6 

(H$) Xmo ^mJ dmbm VQ>H$a (àewëH$)  

(I) Am¡gV bmJV H$s_VZ  

(J) H¡${X`m| H$s Xþ{dYm  

(K) H$mog H$m {gÕm§V   

13. {ZåZ{b{IV _| go {H$Ýht Xmo  Ho$ ~rM AÝVa ñnï>  

H$s{OE :  23=6 

(H$) Agh`moJmË_H$ Am¡a gh`moJmË_H$ ÚyV  

(I) EH$m{YH$ma g§VwbZ VWm nyU© à{V`mo{JVm g§VwbZ   

(J) Aënm{YH$ma H$m Hy$Um} VWm ñQ>¡H$b~J© à{V_mZ  

(K) eyÝ` `moJ ÚyV VWm AeyÝ` `moJ ÚyV 

 


